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backup

T e m pla te _sv

m gm t1 m g m t2 sha kosv d ollar ongsv vm 0 backet

proc.num [] 300 proc.num [].last(0) > 1000

system .cpu.load[,avg5] 300 system .cpu.load[,avg5].m in(60) > 50 

user system .cpu.util[,user,avg5] 300

nice system .cpu.util[,nice,avg5] 300

idle system .cpu.util[,idle,avg5] 300

system system .cpu.util[,system ,avg5] 300

iow ait system .cpu.util[,iow ait,avg5] 300

user
 nice
 idle

 system

 iow ait

vm .m e m o ry.size [fre e ]

 <  50 0 0 0 00 0

vm .m e m o ry.size [fre e ]

 <  50 0 0 0 00 0

vm .m e m o ry.size [fre e ]

 <  50 0 0 0 00 0

vm .m e m o ry.size [fre e ]

 <  20 0 0 0 00

vm .m e m o ry.size [fre e ]

<  2 00 0 0 00

vm .m e m o ry.size [fre e ]

 <  50 0 0 0 00

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00 0

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00 0

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00 0

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00 0

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00

vm .m e m o ry.size [fre e ]

 <  10 0 0 0 00

net.if.in[eth0,bytes] 300 net.if.in[eth0,bytes].avg(10) > 50000000

net.if.in[eth1,bytes] 300 net.if.in[eth1,bytes].avg(10) > 50000000

net.if.out[eth0,bytes] 300 net.if.out[eth0,bytes].avg(10) > 50000000

net.if.out[eth1,bytes] 300 net.if.out[eth1,bytes].avg(10) > 50000000

 in_eth0
 in_eth1
 out_eth0

 out_eth1

ssh net.tcp.service[ssh] 300 net.tcp.service[ssh].last(0) = 0

w eb net.tcp.service[http] 300 net.tcp.service[http].last(0) = 0

w eb(https) net.tcp.service[http,,443] 300 net.tcp.service[http,,443].last(0) = 0

sm tp net.tcp.service[sm tp] 300 net.tcp.service[sm tp].last(0) = 0

pop net.tcp.service[pop] 300 net.tcp.service[pop].last(0) = 0

im ap net.tcp.service[im ap] 300 net.tcp.service[im ap].last(0) = 0

T e m pla te _sv _te m pe ra tu re

m gm t1 m g m t2 sha kosv d ollar ongsv vm 0 backet

dell_m b_tem p.avg(120) > 42

dell_m b_tem p.avg(300) > 47

300vm .m e m o ry.size [fre e ]

dell_m b_tem p 300

ping icm pping [,,,,] 30 0 icm pping [,,,,].m ax(60 ) =  0

m ainS erver interface s.ifT a ble.ifE n try .ifInO c te ts.7 30 0 ne t.if.in [7,b ytes].avg (1 0) > 100  M

m ainS erver interface s.ifT a ble.ifE n try .ifO u tO cte ts.7 30 0 ne t.if.out[7,byte s].av g(10) > 1 00 M

m ainS erver interface s.ifT a ble.ifE n try .ifInO c te ts.8 30 0 ne t.if.in [8,b ytes].avg (1 0) > 100  M

m ainS erver interface s.ifT a ble.ifE n try .ifO u tO cte ts.8 30 0 ne t.if.out[8,byte s].av g(10) > 1 00 M

su bS e rver interface s.ifT a ble.ifE n try .ifInO c te ts.9 30 0 ne t.if.in [9,b ytes].avg (1 0) > 10 M

su bS e rver interface s.ifT a ble.ifE n try .ifO u tO cte ts.9 30 0 ne t.if.out[9,byte s].av g(10) > 1 0 M

su bS e rver interface s.ifT a ble.ifE n try .ifInO c te ts.1 0 30 0 ne t.if.in [10,bytes ].av g(10) > 10  M

su bS e rver interface s.ifT a ble.ifE n try .ifO u tO cte ts.1 0 30 0 ne t.if.out[10 ,by tes].a vg(10 ) >  10 M

up Link interface s.ifT a ble.ifE n try .ifInO c te ts.2 3 30 0 ne t.if.in [23,bytes ].av g(10) > 10  M

up Link interface s.ifT a ble.ifE n try .ifO u tO cte ts.2 3 30 0 ne t.if.out[23 ,by tes].a vg(10 ) >  10 M

up Link interface s.ifT a ble.ifE n try .ifInO c te ts.2 4 30 0 ne t.if.in [24,bytes ].av g(10) > 10  M

up Link interface s.ifT a ble.ifE n try .ifO u tO cte ts.2 4 30 0 ne t.if.out[24 ,by tes].a vg(10 ) >  10 M

m ainS erver interface s.ifT a ble.ifE n try .ifInO c te ts.2 7 30 0 ne t.if.in [27,bytes ].av g(10) > 10 0 M

m ainS erver interface s.ifT a ble.ifE n try .ifO u tO cte ts.2 7 30 0 ne t.if.out[27 ,by tes].a vg(10 ) >  100  M

term R oom interface s.ifT a ble.ifE n try .ifInO c te ts.2 8 30 0 ne t.if.in [28,bytes ].av g(10) > 10 0 M

term R oom interface s.ifT a ble.ifE n try .ifO u tO cte ts.2 8 30 0 ne t.if.out[28 ,by tes].a vg(10 ) >  100  M

term R oom interface s.ifT a ble.ifE n try .ifInO c te ts.7 9 30 0 ne t.if.in [79,bytes ].av g(10) > 10 0 M

term R oom interface s.ifT a ble.ifE n try .ifO u tO cte ts.7 9 30 0 ne t.if.out[79 ,by tes].a vg(10 ) >  100  M

term R oom interface s.ifT a ble.ifE n try .ifInO c te ts.8 0 30 0 ne t.if.in [80,bytes ].av g(10) > 10 0 M

term R oom interface s.ifT a ble.ifE n try .ifO u tO cte ts.8 0 30 0 ne t.if.out[80 ,by tes].a vg(10 ) >  100  M

ping icm pping [,,,,] 30 0 icm pping [,,,,].m ax(60 ) =  0

interface s.ifT a ble.ifE n try .ifInO c te ts.1 03
1.3.6 .1 .2.1.2 .2.1.10.103

30 0 ne t.if.in [7,b ytes].avg (1 0) > 100  M

interface s.ifT a ble.ifE n try .ifO u tO cte ts.1 03
1.3.6 .1 .2.1.2 .2.1.16.103

30 0 ne t.if.out[7,byte s].av g(10) > 1 00 M

ping icm pping [,,,,] 30 0 icm pping [,,,,].m ax(60 ) =  0

interface s.ifT a ble.ifE n try .ifInO c te ts.1 03
1.3.6 .1 .2.1.2 .2.1.10.103

30 0 ne t.if.in [103 ,by te s].a vg(10 ) >  1 00 M

interface s.ifT a ble.ifE n try .ifO u tO cte ts.1 03

1.3.6 .1 .2.1.2 .2.1.16.103
30 0 ne t.if.out[10 3,b ytes].avg (1 0) > 10 0 M

interface s.ifT a ble.ifE n try .ifInO c te ts.5
1.3.6 .1 .2.1.2 .2.1.10.5

30 0 ne t.if.in [5,b ytes].avg (1 0) > 100  M

interface s.ifT a ble.ifE n try .ifO u tO cte ts.5
1.3.6 .1 .2.1.2 .2.1.16.5

30 0 ne t.if.out[5,byte s].av g(10) > 1 00 M

interface s.ifT a ble.ifE n try .ifInO c te ts.6
1.3.6 .1 .2.1.2 .2.1.10.6

30 0 ne t.if.in [6,b ytes].avg (1 0) > 100  M

interface s.ifT a ble.ifE n try .ifO u tO cte ts.6

1.3.6 .1 .2.1.2 .2.1.16.6
30 0 ne t.if.out[6,byte s].av g(10) > 1 00 M

us er .1 .3.6.1.4 .1.202 1.11.9.0 30 0

idle .1 .3.6.1.4 .1.202 1.11.11.0 30 0 .1 .3.6.1.4 .1.202 1.11.11.0.m a x(60) < 50  

sy stem .1 .3.6.1.4 .1.202 1.11.10.0 30 0
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